CLASS 12

INTEGRALS

INTEGRATION BY PARTS

EXERCISE

Integrate x**.

e 1
(a)T(X_Z]+C

e2x
(c)7(2x—1)+C
Find | 7 log x - xdx
7
(a)E(Iog X—x)+C

(c)%(x2 log x—x)+C

Integrate (X +9) e dx
(a)e—(x2 + X—gjﬁ-c
2 4

2X
(c) € (x%x—%}c

Integrate | log x?dx
(@) log x* + x+C

(¢) xlogx* =1+C

2X

(b) eT(zx—1)+c

2X

(d)eT(x+1)+C

(b)—%(x2 Iogx—x3)+C

(d)(x* |ogx+x)+c

e

2X
(b)—(x2 +x—§j+c
2 4

(d)e—(x2+x—§j+c
2 4

(b) xlog x* —2x+C

(d) xlog x* +x+C
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Q.5

Integrate2xsin 2x

@ sin 2x +Xxc0s2x+C

2

(c) COZZX —xC0s2x+C

Integrate 3 sec?x log(tanx) dx.

(a) -log(tanx) (tanx-1)+C
(c) tanx (log(tanx)-1)+C

Find [101log x - x*dx

103 [ 4 X3
a x“logx—— |+C
L IS

103 [ X3
c)———| xX’logx—— |+C
-2 tgs-)

Find | 2x%e* dx.

(@) —e* (x2 +2)+C
(c)2e* (x2 +1) +C
Integrate5xsin 3x.

() —%xcosSx+gtan3x+C

(c) xcos3x+gsin 3x+C

Find [ sinx log(cosx) dx.
(a) cosx (log(sinx)-1)+C
() cosx (log(cosx)-1)+C

(b) sin 2x —cos2x+C

2

(d) sin 2x —Xc0s2x+C

2

(b) log(tanx) (secx+1)+C
(d) tanx (logsecx +1)+C

10x3 X
b logx—— |+C
0% o ).

(d)(x3 log x—§)+c

(b) e (x*~1)+C

(d) e (x-1)+C
(b)§cos3x—§sin 3x+C

3 9
(d) —%xc033x+gsin 3x+C

(b) sinx (log(cosx)+1)+C
(d) cosx (log(cosx)-1)+C




CLASS 12

ANSWER KEY




